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12.1. The Peˁal Perfect of Geminate Verbs1 
 
Geminate verbs are verbs whose second and third root letters are identical.2 In the Peˁal perfect, 
the second root letter is absorbed into the third root letter, which means that only one of the two 
identical root letters is written throughout the paradigm.  
 
Geminate verbs in the Peˁal perfect are similar to second-wāw/yôd verbs in the Peˁal perfect since, 
in both cases, only two root letters appear throughout the paradigm. They can be distinguished 
from each other, however, by the vowel that is written with the first root letter: the theme vowel 
for geminate verbs is ptāḥāˀ (e.g. ܙ  while the theme vowel for second-wāw/yôd verbs is (ܒܼ݁ܿ
normally zqāpāˀ (e.g.ܩܵܡ). 
 
Geminate verbs are listed in two different ways in the standard English dictionaries of Classical 
Syriac. Payne Smith lists geminate verbs according to the form they have in the Peˁal perfect 
3msg (e.g.  ܼ݁ܿܙܒ ). Sokoloff, on the other hand, lists geminate verbs according to their three root 
letters (e.g. ܒܙܙ). In this textbook, geminate verbs will be listed according to the form they have in 
the Peˁal perfect 3msg followed by their three root letters.  
 
The following rules can be used to produce the forms of geminate verbs in the Peˁal perfect: 
 

 
1. Only two root letters are visible throughout the paradigm: the first root letter and the third 
root letter. The second root letter has been absorbed into the third root letter. 
 
 

                                                      
1 Cf. Nöldeke §178; Muraoka §66; Duval §§112–13, 212; Mingana §§127–28, 131; Brockelmann §194. 
2 The term geminate refers to identical sounds that appear side-by-side. 
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2. Apart from the 3fsg and 1csg, the vowel written with the first root letter is ptāḥāˀ. The 
ptāḥāˀ is the theme vowel that would normally have been written with the second root letter. 
It has shifted positions to the first root letter because of the loss of the second root letter.  
 
3. The 3fsg and 1csg follow the paradigm of the regular verb. However, instead of the 
second and third root letters being written separately, the letter is only written once but is 
understood to have been doubled. When the second root letter is a BeGaDKePhaT letter, it 
will have a hard pronunciation in the 3fsg and 1csg because of the doubling. 
 
4. The endings are identical to the ones used with regular verbs. 

 
 
The following chart provides the forms for geminate verbs in the Peˁal perfect along with an 
explanation for why each form takes the form that it does: 
 
Table 12.1 – Peˁal Perfect of Geminate Verbs 

 Form Translation Explanation 

3msg ܙ  he robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

3fsg  ݂ܬ ܙܼܿ  she robbed ܒܸ݁
This form follows the regular paradigm despite the 
fact that only two root letters are visible. This can be 
seen in the transliteration of this form: bezzat.  

2msg  ݁ܙܬ  you robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

2fsg ܙܬ݁ܝ  you robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

1csg  ݂ܙܸܬ  I robbed ܒܸ݁
This form follows the regular paradigm despite the 
fact that only two root letters are visible. This can be 
seen in the transliteration of this form: bezzet. 

3mpl ܙܘ  they robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

3fpl ܙ  they robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

2mpl ܿܙܬ݁ܘܢ  you robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

2fpl ܝܢ ܙܬܹ݁  you robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 
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1cpl ܙܢ  we robbed ܒܼ݁ܿ
The second root letter has been absorbed into the 
third root letter. The theme vowel has shifted to the 
first root letter. 

 
12.2. Geminate Verbs in the Derived Patterns3 
 
The following chart provides the forms for geminate verbs in the most common derived patterns. 
The Peˁal perfect paradigm has been included for the sake of comparison.  
 

Table 12.2 – The Perfect of Geminate Verbs in the Derived Patterns 
 Peˁal Paˁˁel ˀApˁel ˀEtpeˁel ˀEtpaˁˁal 

3msg ܙ ܙܸܙ ܒܼ݁ܿ ܙ ܒܼ݁ܿ ܒܸ݁ ܙ ܐܸܬ݂ܒ݁ܙܸܙ ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ

3fsg  ݂ܬ ܙܼܿ ܬ݂  ܒܸ݁ ܙܙܼܿ ܬ݂  ܒܼ݁ܿ ܒ݁ܙܼܿ ܬ݂  ܐܼܿ ܙܙܼܿ ܬ݂  ܐܸܬ݂ܒܼ݁ܿ ܙܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
2msg  ݁ܙܬ ܙܸܙܬ݁  ܒܼ݁ܿ ܙܬ݁  ܒܼ݁ܿ ܒܸ݁ ܙܬ݁  ܐܸܬ݂ܒ݁ܙܸܙܬ݁  ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
2fsg ܙܬ݁ܝ ܙܸܙܬ݁ܝ ܒܼ݁ܿ ܙܬ݁ܝ ܒܼ݁ܿ ܒܸ݁ ܙܬ݁ܝ ܐܸܬ݂ܒ݁ܙܸܙܬ݁ܝ ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
1csg  ܹܙ ܬ݂ ܒܸ݁ ܙ  ܙܹܬ݂ ܒܼ݁ܿ ܒ݁ܙܹ   ܬ݂ ܐܼܿ ܙ  ܬ݂ ܙܹ ܐܸܬ݂ܒܼ݁ܿ ܙܙܹܬ݂ ܐܸܬ݂ܒܼ݁ܿ    
3mpl ܙܘ ܙܸܙܘ ܒܼ݁ܿ ܙܘ ܒܼ݁ܿ ܒܸ݁ ܙܘ ܐܸܬ݂ܒ݁ܙܸܙܘ ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
3fpl ܙ ܙܸܙ ܒܼ݁ܿ ܙ ܒܼܿ ܒܸ݁ ܙ ܐܸܬ݂ܒ݁ܙܸܙ ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
2mpl ܿܙܬ݁ܘܢ ܙܸܙܬ݁ܘܢܿ ܒܼ݁ܿ ܙܬ݁ܘܢܿ ܒܼ݁ܿ ܒܸ݁ ܙܬ݁ܘܢܿ ܐܸܬ݂ܒ݁ܙܸܙܬ݁ܘܢܿ ܐܼܿ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ

2fpl ܝܢ ܙܬܹ݁ ܝܢ ܒܼ݁ܿ ܙܸܙܬܹ݁ ܝܢ ܒܼ݁ܿ ܙܬܹ݁ ܒܸ݁ ܝܢ ܐܼܿ ܝܢ ܐܸܬ݂ܒ݁ܙܸܙܬܹ݁ ܙܬܹ݁ ܙܼܿ  ܐܸܬ݂ܒܼ݁ܿ
1cpl ܙܢ ܙܸܙܢ ܒܼ݁ܿ ܒܸ݁ܙܢ ܒܼܿ݁ ܙܼܿܙܢ ܐܸܬ݂ܒ݁ܙܸܙܢ ܐܼܿ  ܐܸܬ݂ܒܼ݁ܿ

 
Several observations can be made: 

• Geminate verbs in the Paˁˁel, ˀEtpeˁel, and ˀEtpaˁˁal are completely regular. 
• For the ˀApˁel, the second root letter has been absorbed into the first root letter, causing it 

to double. Once this change is understood, the conjugation should be easy to reproduce 
since it follows the same pattern as the regular verb. This can be seen quite clearly when 
the conjugation is transliterated (ˀabbez, ˀabb(e)zat, ˀabbezt, ˀabbezt(y), abb(e)zēt, etc.) or 
when the doubling of the first root letter is pronounced distinctly when reciting the 
paradigm.  
 

12.3. The Peˁal Perfect of 4ܗܘܵܐ 
 
One of the most common verbs in Classical Syriac is the verb ܗܘܵܐ (“to be”). For example, in 
the Gospel of Mark, which consists of sixteen chapters, the verb ܗܘܵܐ is used 381 times. In the 

                                                      
3 Cf. Nöldeke §178; Muraoka §66; Duval §§113; Mingana §§130–35; Brockelmann §194. 
4 Cf. Nöldeke §§263, 299, 301, 304; 338C; Muraoka §§85, 109; Duval §§109, 333–35, 338–39; Mingana §§267, 
270–72, 276; Brockelmann §§40, 193, 219, 228, 234. 
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vast majority of cases, the verb ܗܘܵܐ is found in the Peˁal perfect. The Peˁal perfect of ܗܘܵܐ 
follows the same paradigm as the Peˁal perfect of original third-yōd verbs (i.e. the paradigm for 
the verb  �ܵ݁ܓ): 
 
Table 12.3 – Peˁal Perfect of the Verb ܗܘܵܐ 

3msg 3 ܗܘܵܐmpl ܗܘܵܘ 

3fgs  ܵܬ݂ ܗܘ  3fpl  ̈ܝ  ܗܘܼܿ

2msg  ݁ܝܬ ܝܬ݁ܘܢܿ 2mpl ܗܘܼܿ  ܗܘܼܿ

2fsg  ݁ܝܬ ܝܗܘܼܿ  2fpl ܝܢ ܝܬܹ݁  ܗܘܼܿ

1csg  ݂1 ܗܘܹܝܬcpl ܝܢ  ܗܘܼܿ
 
In addition to the regular forms of the verb ܗܘܵܐ in the Peˁal Perfect, the verb ܗܘܵܐ also has 
enclitic (i.e. contracted) forms that can be used in combination with other words. The enclitic 
forms of the verb ܗܘܵܐ are identical to the non-enclitic forms apart from the fact that the first 
root letter is no longer pronounced: 
 
Table 10.3 – Enclitic Forms of the Verb ܗܘܵܐ in the Peˁal Perfect  

3msg  ̄ܘܵܐܗ  3mpl ܗ̄ܘܵܘ 

3fgs  ̄ܬ݂ ܘܵ ܗ  3fpl  ̈ܝ  ܗ̄ܘܼܿ

2msg  ̄ܝܬ݁ ܗ ܘܼܿ  2mpl ܿܝܬ݁ܘܢ  ܗ̄ܘܼܿ

2fsg  ̄ܝܬ݁ ܗ ܝܘܼܿ  2fpl ܝܢ ܝܬܹ݁  ܗ̄ܘܼܿ

1csg  ̄ܘܹܝܬ݂ ܗ  1cpl ܝܢ  ܗ̄ܘܼܿ
 
In the Mosul Bible (East Syriac) and in some East Syriac manuscripts, the enclitic forms 
of the verb  ܵܐܗܘ  are fully vocalized and are marked by (a) a hastener line above the letter 
ܐܘ̣ܵ ܗ̄  .e.g) ܘ as well as (b) a single dot below the letter ܗ ܬ݂ ܘ̣ܵ ܗ̄  , , etc.). This dot should 
not be confused with the dot used with ḥbāṣāˀ ( ܼܝ) or rbāṣāˀ ( ܼܘ). In other East Syriac 
manuscripts, the enclitic forms of  ܵܐܗܘ  are unvocalized (i.e. they are not written with 
vowels) but are still marked by are marked by (a) a hastener line above the letter ܗ as 
well as (b) a single dot below the letter ܘ (e.g.  ̄ܐܘ̣ ܗ ܬܘ̣ ܗ̄  , , etc.). The practice of placing 
a dot below the letter ܘ goes back to a convention that was used in earlier manuscripts to 
distinguish enclitic forms from non-enclitic forms before hastener lines were used: enclitic 
forms were marked by a dot below the letter ܘ (e.g.  ̣ܐܗܘ ܬܗܘ̣  , ) while non-enclitic 
forms were marked by two even dots below the letter ܘ (e.g.  ̤ܐܗܘ ܬܗܘ̤  , ). In this 
textbook, the use or non-use of hastener lines will be used to distinguish enclitic from 
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non-enclitic forms except for exercises that involve translating unvocalized texts.5 
 
The enclitic forms of the verb ܗܘܵܐ are used when they are (a) immediately preceded by 
the word  �ܵ (“not”), (b) immediately preceded by the subject complement,6 (c) used in 
combination with the particle of existence ( ݂ܐܝܼܬ), or (d) used in combination with a 
participle, a verb in the perfect tense, or a verb in the imperfect tense.7 The use of ܗܘܵܐ 
with participles will be discussed in chapter 14. The use of ܗܘܵܐ, with the imperfect will 
be discussed in chapter 17.  
 
Excluding the use of ܗܘܵܐ with participles and the imperfect tense, the Peˁal perfect of ܗܘܵܐ has 
several functions: 
 
a) It can be used to make assertions about something in the past. The enclitic form is used when it 
comes immediately after the subject complement or when it is immediately preceded by the word 
 �ܵ. The subject complement can be a noun, an adjective, an adverb, or a prepositional phrase. 
The full form is used in all other cases. Note the following examples: 
  
Examples 

Syriac English 

ܐ  ܕ݂ܒ݁ܪܵܐ ܝܵܘ̈ܡܵܬ݂ܵ ܡܵܢ ܒ݁ܡܼܿ ܗܘܵܐ ܬ݂ܼ݂ܿ ܘܼܿ
ܪܒ݁ܥܝܼܢ.  ܐܼܿ

And he was there in the wilderness for 
forty days. (Mark 1:13) 

ܐ. ܬ݂ ܪܵܐ ܚܘܼܪܒ݁ܵ ܪ ܗ̄ܘܵܐ ܒ݂ܐܼܿ  .But he was outside in a deserted place ܐܸܵ� ܠܒ݂ܼܿ
(Mark 1:45) 

 Life was in him.8 (John 1:4) ܒܹ݁ ܗ ܚܼܿ ܝܹ̈ ܐ ܗܘܵ ܐ.

9 ܕ݂ ܡܝܼ̈ ܬ݂ܹ ܐ ܐܸ ܵ�  ܘܐܼܿ ܠܵ ܗܵ ܐ ܵ�  ܗܘܵ ܐ

ܐ.ܝܹ̈ ܚܼܿ ܕ݂   
And he is10 not the God of the dead but of 
the living. (Matt 22:32) 

 
b) Non-enclitic forms of  ܵܐܗܘ  can be used to indicate transformation (“become,” “come into 
being”). When this happens, the verb ܗܘܵܐ normally comes after the subject complement. Non-
                                                      
5 West Syriac texts use a single dot below the letter ܗ to indicate non-enclitic forms and no dot to indicate enclitic 
forms. 
6 A subject complement is a word or phrase that provides information about the subject. Subject complements are 
used with linking verbs like the verb “to be” or “to become.” For example, in the sentence, “The bear was large,” the 
subject complement is the word “large.”  
7 Note that manuscripts do not always agree with each other about when an enclitic form is used versus a non-enclitic 
form. However, the rules given here apply in most instances. 
8 In this clause, “life” is the subject of the verb ܗܘܵ ܐ, which explains why the full form is used. The subject 
complement “in him” comes before  ܵܐܗܘ  but not immediately before it. 
9 This is an exception to the rule about enclitic forms being used after  �ܵ. Other exceptions are found in Matt 24:21 
and Matt 28:6. 
10 The perfect of ܗܘܵ ܐ is often used with a present meaning when preceded by the word  �ܵ. 
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enclitic forms can be used with this meaning when they are immediately preceded by the word 
 �ܵ. Note the following examples. 
 
Examples 

Syriac English 

ܗ ܗܘܵܐ ܠ ܒ݁ܐܝܼܕ݂ܹ ܘܗ̄ܝ ܐܵܦ݂ܵ� ܟܼ݁ 11 ܘܒ݂ܠܥܵܕ݂ܵ

ܐ ܗܘܵܬ݂ .  ܚܕ݂ܵ
All things came into being through him. 
And without him, not even one thing came 
into being. (John 1:3a) 

ܣܪܵܐ ܗܘܵܐ. ܐ ܒ݂ܸ  And the Word became flesh. (John 1:14) ܘܡܸܠܬ݂ܵ

ܐ  ܒ݁ܬ݂ܵ ܪ ܠܗܘܢܿ: ܕ݁ܫܼܿ ܪܢܵܫܵܐ  ܡܸܛܼܠܘܐܸܡܼܿ ܒܼ݁ܿ
ܪܢܵܫܵܐ ܡܸܛܼܠ  ܬ݂. ܘܵ� ܗ̄ܘܵܐ ܒܼ݁ܿ ܪܝܼܿ ܐܸܬ݂ܒܼ݁ܿ

ܐ. ܒ݁ܬ݂ܵ  ܫܼܿ

And he said to them, “The Sabbath was 
created because of human beings. Human 
beings did not come into being because of 
the Sabbath.” (Mark 2:27) 

 
c) Non-enclitic forms of  ܵܐܗܘ  can be used to indicate existence or an occurrence. When this 
happens, it is often best to translate the verb impersonally with the words, “there was,” followed 
by the subject. In some cases, the verb ܗܘܵܐ can be rendered by a verb other than the verb “to 
be” that fits with the context. Note the following example (two different translations are used): 
 
Examples 

Syriac English 

ܪܝ  ܢܬ̄݁ ܗ̄ܘܼ ܒ݂ܹ ܝܵܐ: ܐܼܿ ܘܩܵܵ� ܗܘܵܐ ܡܼܢ ܫܡܼܿ
ܟ݂ ܐܸܨܛܒ݂ܝܼܬ݂. ܐ ܒ݂ܵ ܒ݁ܝܼܒ݂ܵ  ܚܼܿ

And there was a voice from heaven: “You 
are my beloved son. With you I have been 
pleased. (Mark 1:11) 
 
OR 
 
And a voice came from heaven: “You are 
my beloved son. With you I have been 
pleased. (Mark 1:11) 

ܡ ܕܼ݁ܿ ܗܘܵܐ. ܩܘ ܠܡܸܚܙܵܐ ܡܸܕܸ݁ ܿ
ܢܦ݂ܼ  And they went out to see what had ܘܼܿ

happened. (Mark 5:14) 
ܠܵܗܵܐ.  ܪ ܡܼܢ ܐܼܿ ܿ

ܕܼ݁
ܿ
ܪܢܵܫܵܐ. ܕ݁ܐܸܫܬܼ݁ ܗܘܵܐ ܒܼ݁ܿ

ܢܵܢ.  ܫܡܹܗ ܝܘܿܚܼܿ
There was a human being who was sent by 
God. His name was John. (John 1:6) 

 These things happened in Bethany on the ܗܵ ܠܹ ܝܢ ܒ݁ ܒ݂ܹ ܝܬ݂  ܥܼܿ ܢܝܵ ܐ ܗܘܼܿ ܝ̈  ܒ݁ ܥܸ ܒ݂ ܪܵ ܐ ܕ݂ ܝܘܿ ܪܕ݁ ܢܵ ܢ.
other side of the Jordan. (John 1:28) 

 
d) The Peˁal perfect 3msg, preceded by the conjunction ܘ (i.e. ܗܘܵܐ  can be used to indicate ,(ܘܼܿ
that the events that are about to be narrated took place in the past. This follows the function of the 

                                                      
11 The Mosul Bible uses the enclitic form here but this appears to be a mistake. East Syriac manuscripts use the full 
form here. 
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past-time indicator וַיְהִי (wayehî) in Hebrew12 and the use of the phrase καὶ ἐγένετο (kai egeneto) 
in Greek to imitate this Hebrew construction. When used with this function, the verb ܗܘܵܐ can 
be translated, “And it came to pass that,” “And it happened that,” or it can simply be left 
untranslated.12F

13 Note the following examples: 
 
Examples 

Syriac English 

ܐ ܝܼܫܘܿܥ  ܐ ܗܵܢܘܢܿ ܐܸܬ݂ܵ ܗܘܵܐ ܒ݂ܝܵܘ̈ܡܵܬ݂ܵ ܘܼܿ
ܓ݂ܠܝܼܵ�. ܿ

ܬ݂ ܕܼ݁  ܡܼܢ ܢܵܨܪܼܿ
And it came to pass in those days that 
Jesus came from Nazareth in Galilee. 
(Mark 1:9) 
 
OR 
 
And it happened in those days that Jesus 
came from Nazareth in Galilee. (Mark 1:9) 
 
OR 
 
And in those days, Jesus came from 
Nazareth in Galilee. (Mark 1:9) 

ܐܹܐ  ܓ݁ܝܼ̈ ܗ. ܣܼܿ ܝܬܹ݁ ܕ݂ ܣܡܝܼܟ݂ ܒ݁ܒ݂ܼܿ ܿ ܗܘܵܐ ܕ݂ܟ݂ܼ ܘܼܿ
ܛܵ  ܐ ܘܚܼܿ ܡ ܡܵܟ݂ܣܹ̈ ܝܹ̈ܐ ܣܡܝܼܟ݂ܝܼܢ ܗ̄ܘܵܘ ܥܼܿ

ܘ̈ܗ̄ܝ.ܝܼܫܘܿ  ܠܡܝܼܕ݂ܵ ܿ
ܡ ܬܼ݁ ܥ ܘܥܼܿ  

And it came about that while he was 
reclining in his house, many tax collectors 
and sinners were reclining with Jesus and 
with his disciples. (Mark 2:15) 
 
OR 
 
And while he was reclining in his house, 
many tax collectors and sinners were 
reclining with Jesus and with his disciples. 
(Mark 2:15) 

 
e) Enclitic forms of ܗܘܵܐ can be used in combination with the particles of existence and non-
existence to indicate existence or non-existence in the past (i.e. there was, there were, there was 
not, there were not). When this happens, the particle of existence comes first and the enclitic form 
of ܗܘܵܐ comes second.  

                                                      
12 The 3msg preterite + waw-consecutive of the verb הָיָה (hāyâ). 
13 The choice between these translation options depends on one’s philosophy of translation. If the purpose of the 
translation is to reproduce the passage in a way that sounds natural in English, it would be best to leave the verb 
untranslated. However, a good argument can be made that this construction would have sounded somewhat archaic 
or unnatural in Classical Syriac since this construction is a conscious imitation of the Hebrew style used in the Old 
Testament. Translating this construction as, “and it came to pass that,” might have the same effect on English 
speakers as this construction would have had on readers of Classical Syriac, which might make this translation 
preferable.   
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Examples 

Syriac English 

ܒ݂ܪܵܐ  ܟ݂ܢܘܼܫܬ݁ܗܘܢܿ ܓܼ݁ܿ ܘܐܝܼܬ݂ ܗ̄ܘܵܐ ܒ݂ܼܿ
ܐ. ܡܐܸܬ݂ܵ ܗ ܪܘܼܚܵܐ ܛܼܿ  ܕ݂ܐܝܼܬ݂ ܗ̄ܘܵܐ ܒ݂ܹ

And in their synagogue there was a man in 
whom there was an unclean spirit. (Mark 
1:23) 

ܦ݂�ܝܼܫܹܐ  ܡܵ ܢ ܡܼܢ ܣܵܦ݂�ܐܹ ܘܼܿ ܿ
ܝܢ ܬܼ݁ ܐܝܼܬ݂ ܗ̄ܘܵܘ ܕܹ݁

 ܕ݂ܝܵܬ݂ܒ݂ܝܼܢ.
Now there were some scribes and 
Pharisees there who were sitting. (Mark 
2:6) 

ܝܟ݁ܵܐ  ܠ ܫܘܼܥܵܐ. ܐܼܿ ܠ ܥܼܿ ܿ
ܝܢ ܢܦ݂ܼ ܐ̄ܚܪܹܢܵܐ ܕ݂ܹ

ܓ݁ܝܼ. ܪܥܵܐ ܣܼܿ ܝܬ݁ ܗ̄ܘܵܐ ܐܼܿ  ܕ݂ ܠܼܿ
Now another one fell on stone where there 
was not much soil. (Mark 4:5) 

 
f) Enclitic forms of ܗܘܵܐ can be used in combination with the particle of existence to make 
assertions about something in the past. When this happens, the particle of existence comes first 
and is written with a pronominal suffix that matches the person, gender, and number of the form 
of the verb ܗܘܵܐ it is used with. It is equivalent in meaning to the use of ܗܘܵܐ by itself when it 
is used to make assertions about something in the past. Note the following examples: 
 
Examples 

Syriac English 

ܐ. ܝ̈ ܘܵܬ݂ܵ ܡ ܚܼܿ ܘܗ̄ܝ ܗ̄ܘܵܐ ܥܼܿ  And he was with the wild animals. (Mark ܘܐܝܼܬ݂ܵ
1:13) 

ܐ. ܝܵܕ݂ܹ̈ ܝܪ ܨܼܿ ܝܗܘܢܿ ܗ̄ܘܵܘ ܓܹ݁ ܿ
 For they were fishermen. (Mark 1:16) ܐܝܼܬ݂ܼ

ܝܗ̇ ܗ̄ܘܵܬ݂   ܐ ܕ݂ ܐܝܼܬ݂ܹ ܝܢ ܚܕ݂ܵ ܐ ܕ݂ܹ ܢܬ̄݁ܬ݂ܵ ܐܼܿ
ܥܸܣ�ܐܹ. ܿ

ܪܬܼ݁ ܿ
ܢ ܬܼ݁ ܕ݂ܡܵܐ ܫܢܝܼ̈ ܿ

ܐ ܕ݂ܼ ܪܕ݁ܝܼܬ݂ܵ  ܒ݁ܡܼܿ
And a woman who was in the course of 
blood14 for twelve years… (Mark 5:25) 

 
g) Enclitic forms of ܗܘܵܐ can be used in combination with verbs in the perfect tense. When this 
happens, the verb in the perfect tense comes first and the enclitic form of ܗܘܵܐ comes second. 
This combination is often used to communicate action that took place prior to another action that 
took place in the past (i.e. the pluperfect) but can also be used with the same meanings as a 
regular verb in the perfect. Note the following examples: 
 
Examples 

Syriac English 

ܕ݂.  ܹ ܠ ܕ݁ܥܵܒ݂݂ ܥܘ ܗ̄ܘܵܘ ܟܼ݁ ܐܹܐ ܕ݂ܼܿ ܫܡܼܿ ܓ݁ܝܼ̈ ܐ ܣܼܿ ܢܫܹ̈ ܟܸ݁
ܘ ܠܘܵ  ܗ.ܐܸܬ݂ܵ ܬ݂ܹ  

Many crowds who had heard all that he 
was doing came to him. (Mark 3:8) 

ܢ ܕ݁ܐܝܼܬ݂ ܠܹܗ ܐܸܕ݂ܢܹ̈ܐ  ܪ ܗ̄ܘܵܐ: ܡܼܿ ܘܐܸܡܼܿ
ܥ. ܥ. ܢܸܫܡܼܿ  ܕ݂ܢܸܫܡܼܿ

And he said, “Whoever has ears to hear, let 
him hear.” (Mark 4:9) 

 
                                                      
14 I.e. menstruating. 
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12.4. Vocabulary 
 
Verbs 

ܠܸܦ݂   to teach, instruct (Paˁˁel) 15ܐܼܿ

ܙ  to steal, plunder (Peˁal) ܒܙܙ | ܒܼ݁ܿ

ܪܕ݁ܒܼ݂ܿ   (Peˁal) to lead, guide, govern 

ܚܸܒ݂   to love (ˀApˁel) ܚܒܒ | ܐܼܿ

ܒ݂ ܬ݂ܸ ܝܼ   (Peˁal) to sit, dwell, stay, remain 

ܐܐܵ ܟ݁   (ܒ݁  with) to rebuke (Peˁal) ܟܐܝ | 

ܪܥܕ݂ܼܿ   (Peˁal) to help, assist 

ܠ  (ܒ݁  with) to enter, come in, go in, attack (Peˁal) ܥܠܠ | ܥܼܿ

ܥܸܠ  to bring in, carry in (ˀApˁel) ܥܠܠ | ܐܼܿ

ܪ  to be strong, get well, recover, stand firm, prove true (Peˁal) ܫܪܪ | ܫܼܿ
 
Nouns   

Singular Plural Meaning 

ܐܣܪܵ ܒܸ݁  ܣܪܹ̈ܐ   flesh, meat (m) ܒܸ݁

ܐܝܩܹ ܬ݂ܹ ܝܼܿ ܕ݁  ܝܩ̈ܘܿܣ  ܬ݂ܹ  covenant, agreement, treaty, testament (f) ܕ݁ܝܼܿ

ܛܵܝܵܐ ܛܵܝܹ̈ܐ 16ܚܼܿ  sinner (a male sinner) (m) ܚܼܿ

ܝ̈ܠܵܘܢܵ ܠܹܠܝܵܐ  17 (m) night(.abs) ܠܼܿ

ܡܫܵܢܵܐ ܡ̈ܫܵܢܹܐ ܡܫܼܿ  servant, deacon (m) ܡܫܼܿ

ܝܢܵܐ ܝ̈ܢܹܐ ܥܼܿ  eye (f) ܥܼܿ

ܐ ܪܨܘܿܦ݁ܵ ܿ
ܐ ܦܼ݁ �ܨܘܿܦܹ݁ ܿ

 ,face, person (of the members of the Trinity (m) ܦܼ݁
of Christ being one person) 

ܡܫܵܐ ܡܫܹܐ ܪܼܿ  evening (m) ܪܼ̈ܿ

                                                      
15 Note that the root of this verb is  ݂ܦ  were the first root ܐ However, in the Paˁˁel, it can be conjugated as though .ܝܼܠܼܿ
letter. 
ܛܵ ܝܵܐ 16  is actually an adjective (“sinful”). However, since it is used so frequently as a substantive to ܚܼܿ
mean “sinner” (i.e. sinful person), it should be memorized as though it were a noun. The feminine version 
is found in the vocabulary for chapter 13. 
17 The emphatic state of ܠܹܠܝܵܐ has two possible forms:  �ܹ̈ܝ ܐ or ܠܼܿ ܝ̈ܠܵܘܵܬ݂ܵ  The vocabulary section uses the absolute .ܠܼܿ
form because this is the most common form that will be encountered in Syriac texts. When used with numbers (e.g. 
forty days), ܠܹܠܝܵܐ is used in the absolute state. 
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ܐ ܥܹܐ ܫܵܥܬ݂ܵ  hour, time, moment of time (f) ܫ̈ܵ

 power, might, authority, sovereignty, ruler (m) ܫ̈ܘܼܠܛܵܢܹܐ ܫܘܼܠܛܵܢܵܐ
 
Adverbs 

ܪ  outside, out ܠܒ݂ܼܿ

ܐ  immediately, at once ܡܸܚܕ݂ܵ

 always, forever ܡܸܡܬ݂ܘܿܡ

 again ܬ݁ܘܼܒ݂ 

ܡܵܢ ܿ
 there ܬܼ݁

 
Interjections 

 yes, truly ܐܹܝܢ

 !behold!, look ܗܵܐ
 
Idioms   

Combination Meaning 

ܐ  just then, at that very moment ܒܵܗ̇ ܒ݁ܫܵܥܬ݂ܵ

ܗ ܪ ܫܵܥܬ݂ܹ  at that very moment ܒܼ݁ܿ

 never ܵ� ܡܸܡܬ݂ܘܿܡ
 

 
 
 
 
 
 
 
 
 
 

 
12.5. Homework 
 
a) Using practice sheet 12.1, memorize the paradigm for the Peˁal perfect of the verb ܙ   .ܒܼܿ݁
 
b) Using practice sheet 12.2, memorize the paradigms for ܙ  .in the derived patterns ܒܼ݁ܿ
 

Proper Nouns 

ܣܘܿܣ ܦ݂ܸ  Ephesus ܐܼܿ

ܢܘܿܣ  Athens ܐܵܬ݂ܹ

ܠܵܛܝܼܵܐ  Galatia ܓ݁ܵ

 Philippi ܦ݂ܝܼܠܝܼܦ݁ܘܿܣ

ܢܬ݂ܘܿܣ  Corinth ܩܘܿܪܼܿ
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c) Using practice sheet 12.3, memorize the paradigm for the Peˁal perfect of the verb ܗܘܵܐ. 
 
d) Memorize the vocabulary in 12.4 above. Ideally you should learn seven words per day until 
they are all memorized. Make sure you can translate the words from Syriac to English as well as 
English to Syriac. The following link on Quizlet can be used to help you learn the vocabulary: 
https://quizlet.com/_cj3rug?x=1qqt&i=2z26w0. 
 
e) Using practice sheet 12.4, translate the sentences from Syriac to English. 
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